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Problems
a. The user data rate for OC-3 is stated to be 155.52 Mbps. Show how this number can be derived from the SONET OC-3 parameters.
b. To accommodate lower data rates than STS-1, SONET has a system of virtual tributaries (VT). A VT is a partial payload that can be inserted into an STS-1 frame and combined with other partial payloads to fill the data frame. VT1.5 uses 3 columns, VT2 uses 4 columns, VT3 uses 6 columns, and VT6 uses 12 columns of an STS1 frame. Which VT can accommodate: 1) A DS1 service, 2) European CEPT-1 service, and 3) A DS-2 service

c. What is the available user bandwidth in an OC-12c connection.
d. Let us assume that the routing tables in an IP administrative domain remain unchanged for a long time. In this case, the path between two computers, say A and B, within the same domain will not change. Therefore, all of the packets from A to B will follow the same path. Can we say that during that time, the IP network behaves like a connection-oriented packet-switching network? Why?

e. Explain how bursty data transmission over a circuit-switched network leads to a poor utilization of the connection?
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